REDUCING COMPLEXITY PRINCIPLES
ABSTRACTION

UNDERSTANDING WHY WE USE ABSTRACTIONS

The binary is the language that
computers read in. We don’t have ' ~ ASCII table
to worry about binary because
high-level languages use
abstractions. The languages do it
for us behind the scenes.

Students will choose a word then
use the ASCII table to find what
the word would be in binary.

STEP 1

Pick a word. Preferably 5 - 8
characters long.

STEP 2

Find the decimal equivalent of
each character according to the
ASCII table.

STEP 3

Now convert each decimal into binary!

e To convert to binary:
o Find the number you want to convert
o Divide this number by 2
o The remainder of the answer is what you will write down (it will
beaOor1l)
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o Take the answer of the first
division and divide this number

by 2
o Again, write down the 13/ 2=6R1
remainder 6 / 2=3RO
Repeat until you're at 0 3/ 2 —1R1
The number in binary will be
1/2 = O0RI1

read from bottom to top
» For this example, 26 in
binary is 11010

WHAT TO SUBMIT

Show the math for each letter on a piece of paper. At the end, write the
word and what the word is in binary. Submit this piece of paper.
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